[image: image1.png]Elena recsives a salary plus a commission that is equal 1o a
fixed percentage of her sales revenue. What was the fotal of
Elena’s salary and commission last month?

(1) Elena’s monthly salary is $1,000.

(2) Elena’s commission is 5 percent
of her sales revenue.

© Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

O Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient,

© BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficiert.

© EACH statement ALONE is sufficient.
@ Statements (1) and (2) TOGETHER are NOT sufficient.



1.
注意salary和sales revenue是不同的！

2．

[image: image2.png]Ms. Adams sold two properties, X and ¥, for
430,000 each. She sold property X for 20 percent
more than she paid for it and soid property ¥ for
20 percent less than she paid for it. If expenses
are disregarded, what was her tofal net gain or
loss, if any, on the two properties?

O Loss of $1.250

@ Loss of 52,500

© Gain of $1.250

© Gain of $2.500

O There was neither a net gain
nor a net loss.



注意不要减反了！

3.

[image: image3.png]1f 210 percent deposit that has been paid
toward the purchase of a certain product is
$110, how much more remains 1o be paid?

< 4880
® 5990
< 1,000
< $1.100
< $1,210



注意提问的内容，不要漏减了！

4.
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3rd Street

2nd Street

Tt Street-

X

Pat will walk from infersection X to intersection ¥ along a route that is confined to
the square grid of four streets and hree avenues shown in the map above. How
many routes from X to ¥ can Pat take that have the minimum possible length?

O six
O Eight
® Ten

O Fourteen
O Sixteen



最行之有效的办法就是数一数！
5.

[image: image5.png]A frain fravels from New ‘York City to Chicago, a distance
of approximately 840 miles, at an average rate of 60 miles
per hour and arrives in Chicago at 6:00 in the evening,
Chicago fime. Atwhat hour in the morning, New York City
time, dil the frain depart for Chicago? (Note: Chicago
time is one hour earlier than New York City fime.)




早一个小时，即在数值上小1！例如，A地的6点比不同时区的B地的7点要早一个小时。

6.

[image: image6.png]&' is a set containing 9 different numbers. 7 is a set con-
taining 8 different numbers, all of which are members of 5.
Which of the fallowing statements CANNOT be true?

© The mean of S is equal o the mean of 7.
© The median of 5 is equal to the median of 7.
© The range of S is equal fo the range of 7.
© The mean of S is greater than the mean of 7.
@ The range of S is less than the range of 7.



注意S是T的子集这一重要条件！
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[image: image7.png]Elena recsives a salary plus a commission that is equal 1o a
fixed percentage of her sales revenue. What was the fotal of
Elena’s salary and commission last month?

(1) Elena’s monthly salary is $1,000.

(2) Elena’s commission is 5 percent
of her sales revenue.

© Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

O Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient,

© BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficiert.

© EACH statement ALONE is sufficient.
@ Statements (1) and (2) TOGETHER are NOT sufficient.



[image: image8.png]Ms. Adams sold two properties, X and ¥, for
430,000 each. She sold property X for 20 percent
more than she paid for it and soid property ¥ for
20 percent less than she paid for it. If expenses
are disregarded, what was her tofal net gain or
loss, if any, on the two properties?

O Loss of $1.250

@ Loss of 52,500

© Gain of $1.250

© Gain of $2.500

O There was neither a net gain
nor a net loss.



[image: image9.png]1f 210 percent deposit that has been paid
toward the purchase of a certain product is
$110, how much more remains 1o be paid?

< 4880
® 5990
< 1,000
< $1.100
< $1,210
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Pat will walk from infersection X to intersection ¥ along a route that is confined to
the square grid of four streets and hree avenues shown in the map above. How
many routes from X to ¥ can Pat take that have the minimum possible length?

O six
O Eight
® Ten

O Fourteen
O Sixteen



[image: image11.png]A frain fravels from New ‘York City to Chicago, a distance
of approximately 840 miles, at an average rate of 60 miles
per hour and arrives in Chicago at 6:00 in the evening,
Chicago fime. Atwhat hour in the morning, New York City
time, dil the frain depart for Chicago? (Note: Chicago
time is one hour earlier than New York City fime.)




[image: image12.png]&' is a set containing 9 different numbers. 7 is a set con-
taining 8 different numbers, all of which are members of 5.
Which of the fallowing statements CANNOT be true?

© The mean of S is equal o the mean of 7.
© The median of 5 is equal to the median of 7.
© The range of S is equal fo the range of 7.
© The mean of S is greater than the mean of 7.
@ The range of S is less than the range of 7.
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